Calculation

A rectangular loop (height = a, length = b, resistance = R, Vs

B . : : B
mass = m) coasts with a constant velocity v, in +x | blx x X X X X X
direction as shown. Att =0, the loop enters a region of x K X X X X X
constant magnetic field B directed in the —z direction. a X XX X X X X

What is the magnitude of the net force on
the loop just after it enters the field?

FoILxB o=Bay, =i
dt
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y F=ILxB — F=ILB since [ | B

34
b X XX X X X X
a ¥ Vo ) 5
TI _&_Bav, F:(Bavoja _ By,
X X X X X X X R R R H R
X \ILB

Electricity & Magnetism Lecture 17, Slide 35





